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Chapter 9 Review

Find the rectangular equation by eliminating the parameter. Sketch the graph and state
the domain and range of the rectangular equation.
1 x=3t+2 2 x= 14 3 0=V

y=t+l y=t'-4 y=4dt
4. x=2cC08¢ 5 x=1-2cos¢t

y=3-2sinr y=2+5s5int

May 7-5:42 AM

6. Plot the polar point and state 3 equlvalent points with the following

constraints, {5 Sx) r<0, 0<58<2r
s

3 r>0, —2r<@<0
r>0, lrs@<dr

7. Convert from rectangular coordinates to polar coordinates.
a) (6,150°) b) (_3‘_3_”) o) (-3.2,185%)
4 calc ok

May 7-5:561 AM

8. Find the polar coordinates for the following rectangular points.
a) (-1.43) b) (4,0) ) (-5-7)
calc ok

May 7-6:02 AM
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9. Convert the rectangular equation to a polar equation.
a) 242yt =5 b} xy =1 ¢ x=12
May 7-6:10 AM

10. Convert the polar equation to a polar equation,

a) r=-3sin8 b) r=2 <) 0=4Tk

d) r=sgind-cosd

May 7-6:13 AM

Graph the potar equations.

12, r=3+3sind

May 7-6:18 AM
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Additional Questlons

1. X=1+2 2x=Ji+4 3, x=TIsiny 4.x=5+3cost
y=vr y=Aft-4 y=1+2coss y=2+sint
5. Plot and state 3 equivalent points for| 3, :'rﬁ)
6. Convert to rectangular;  #6 without calc and(2,2.5)with calc.
7. Convert to polar: (—\5,]) L.
8. Convert to potar:  xy=2
2x-y=3
y=—4

9. Convert to rectangular: 9 =4Tk

r=121
r=-Zsing

May 7-8:26 AM
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